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Hot Pad Search using Calibration events

-Carbon, Bismuth, and Empty target for 120 GeV/c

-58 GeV/c Carbon target

- # hits/ # events plots subrun by subrun and for whole
run

- single pad may have more than one hit in an event
due to time buckets

- Each subrun has around 300 calibration events over
5000 total events



120 GeV/c Carbon target
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120 GeV/C Bismuth Target
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120 GeV/c empty target

120 GeVic Empty target pad hit distributions for calib events subrun 2 |

hitlevent

10

| 120 GeWfc Empty target pad hit distributions for calib events subrun 1

0

“

2000

4000

hh

6000

8000

10000

12000

TPCHitPadRowCol

Entries 15360

Mean 4672 =

RMS 4468 g
=
=

14000

all pads

TPCHitPadRowCaol

Entries 15360
Mean 4665
L RMS 4474

10°

| 120 GeVic Empty target pad hit distributions for calib events 4 subruns together |

hitlevent

10

0

| H‘\ |

10 |5
MURDAR 00 A AR A
0 2000 4000 6000 8000 10000 12000 14000
all pads
TPCHitPadReowCal
Entries 15360
Mean 4729
RMS 4488

|

ﬂl

2000

4000 6000 BOOOD

10000

12000

14000
all pads




58 GeV/c Carbon target
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DEAD CHANNEL SEARCH
using all events

- log10(hit/event) plots for all pads subrun by
subrun
- if pad has no hits, -10 was put on y axis



120 GeV/c Carbon Target
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120 GeV/c Bismuth Target
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120 GeV/c Empty Target
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58 GeV/c Carbon Target
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